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16. 

1.80 ÷ 100 = £0.018

7.20 ÷ 450 = £0.016

30.00 ÷ 1500 = £0.02

 

x

2 2.  

1.5 × 1002 = 15 000cm2

 × 12 ÷ 4 = 3  

3  + 6 + 6 = 21.4cm (1d.p.)

20. Find the nth  

-7n + 35 or 35 – 7n  

0 1 2 3 4 6
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Question 
Number Week 1 Week 2 Week 3 Week 4 Week 5 Week 6 Week 7

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

11. 2
3

100 ÷ 2 × 3 = 150

12. y = x2 x

14 = 22 + 5 × 2, yes.

13. 

360

14. 2

16 × 10-10 = 1.6 × 10-9

x2

(2x – 5)(2x + 5)

Week 7
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6. 

x = 122 + 62  = 13.416…cm 

13.416… + 12 + 6 = 31.42cm (2d.p.)

x. 

x

7.2 × 5 = 36

36 – (6 + 9 + 8 + 4) = 9

250 × 1.10 = €275

275 – 125 = €150

150 ÷ 1.10 = £136.36 (2d.p.)

19 × 3.5 = £66.50

10. x
 x.

x < 375

6

26

1. nth term is 4n

4 × 15 + 7 = 67

2. 

19

3. 

17

4. C d
C = 20 + 30d

days. 

C = 20 + 30 × 8 = £260

Mirror Line

Solution

Week 1
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6. 

5cm 

20 ÷ 5 = 4

100 × 1.05 = €105

0.15 × 80 = £12

10. x  
x.

x < 7.5

x

2

1. nth term is 
3 – 12n

3 – 12 × 1 = 2.5

3 – 12 × 2 = 2

3 – 12 × 3 = 1.5

2. 122
.

28.8

3. 

0.033

4. C d
C d

39 + 12 = 51

51 ÷ 8.5 = 6 days

y = x.  

Solution

y

1

10 2 3 4 5 6 7 8 9 10

2

3

4

5

6

x

Week 7
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16. 

1.20 ÷ 100 = £0.012

3.50 ÷ 320 = £0.0109

16.00 ÷ 1500 = £0.01067

x < 3 on the number line.

2 to mm2. 

8 × 102 = 800mm2

× 8 ÷ 2 = 4

4  + 8 = 20.6cm (1d.p.)

20. Find the nth  

-3n + 23 or 23 – 3n  

0 1 2 3 4 6

24

11. 2

2
5 of 80 = 32

12. Does the line y = 2x

8 = 2 × 4, yes.

13. 

5

14. 3

6 × 108

x2 + 4x + 3

(x + 3)(x + 1)

16. 

3.70 × 2 = £7.40

Week 1
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x > 2 on the number line. 

4 × 10 = 40mm

 × 52 = 25  = 78.5cm2 (1d.p.)

20. Find the nth  

2n + 2

0 1 2 3 4 6

4

11. 1

40 × 5 = 200

12.  y = x2

9 = 32, yes.

13. 

60

14. 3

0.625 × 106 = 6.25 × 105

x2

(x – 7)(x + 7)

Week 6
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6. 

x = 92 2  = 5.66cm (2d.p.)

9.7 ÷ 7 = 1.39 (2d.p.) 

100 × 1.20 = €120

120 – 45 = €75

75 ÷ 1.20 = £62.50

72 × 2 = £144

10. x
x.

x < 9.5

x

22

1. nth term is 2n – 10

2 × 8 – 10 = 6

2. 

62

3. 

3.8

4. C d
C d

days.  

C = 10 + 45 × 5 = £235

Mirror Line

Solution

Week 2
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6. 

5cm 

28 ÷ 7 = 4 

40 × 1.12 = €44.80

0.12 × 95 = £11.40

10. x  
x.

x < 20.5

x

6

1. nth term is 4 – 0.1n2

4 – 0.1 × 52 = 1.5

2. 
3
.

2197

3. 

8000

4. C d
C = 2d

83 – 45 = 38

38 ÷ 2 = 19 days

y = 2. 

Solution

y

1

0

-1

-2

2

3

4

5

6

x

Week 6
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16. 

2.00 ÷ 250 = £0.008

4.80 ÷ 600 = £0.008

7.50 ÷ 1000 = £0.0075

x

0.4 × 100 × 10 = 400mm

 × 42 ÷ 2 = 8  = 25.1cm2 (1d.p.)

20. Find the nth  

0.1n  

0 1 2 3 4 6

20

11. 3
4

3
4 of 120 = 90

12. Does the line y = x

13. 

10

14. 2 3

5.1 × 105

x2 x + 10

(x + 5)(x + 2)

16. 

1.25 × 5 = £6.25

Week 2
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x

5 × 1000 = 5000g

 × 42 = 16  = 50.3cm2 (1d.p.)

20. Find the nth  

4n + 6

0 1 2 3 4 6

11. 1

1
3

1
5 of 240 = 48

1
3 of 240 = 80

240 – (48 + 80) = 112

12. y = x2

2, no.

13. 

630

14. 3

0.5 × 10-2 = 5 × 10-3

x2 – 16

(x – 4)(x + 4)

Week 5
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6. 

x = 102 2  = 6cm

4.64 ÷ 5 = 2.928 

80 ÷ 1.20 = €66.67 (2d.p.)

90 × 1.08 = £97.20

10. x
x.

 x < 0.745

10
x

1. nth n

18 – 15 = 3

2. 

8.1

3. 

18.23

4. C d
C d

days.  

C = 15 + 18 × 4.5 = £96

x

Solution

y

x

Week 3
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6. 

x = 72 + 42 = 8.1cm (1d.p.)

24.2 ÷ 5 = 4.84 

90 × 0.97 = €87.30

0.025 × 110 = £2.75

10. x  
x.

x < 4.75

x

10

1.  nth n2

8 – 72 = -41

2. 3  343
2
.

49

3. 

200

4. C d
C d

56 ÷ 8 = 7 days

x

Solution

y

x

Week 5
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x

18 ÷ 100 = 0.18m

 × 8 = 8  = 25.1cm (1d.p.)

20. Find the nth  

3n – 5  

0 1 2 3 4 6

16

11. 1
10

not
9

10 of 120 = 108

12. Does the line y = 3x

13. 

20

14. 4

9.541 × 102

x2 + 2x

(x + 5)(x – 3)

16. 

1.20 × 2.5 = £3.00

Week 3
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x

9 ÷ 10 = 0.9cm

 × 10 = 10  = 31.4cm2 (1d.p.)

20. Find the nth  

5n – 4 

0 1 2 3 4 6

12

11. 2
3

1
3 of 180 = 60

12. Does the line y = 2x

11 = 2 × 7 – 3, yes.

13. 

60

14. 4

18 × 109 = 1.8 × 1010

x2 – x – 20

(x – 5)(x + 4)

16. 

3 × 5 = £15

3.6 × 4 = £14.40

Week 4
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6. 

x = 102 + 32  = 10.4cm (1d.p.)

0 ÷ 4 = 0 

100 ÷ 1.15 = €86.96

0.005 × 20 = £0.10

10. x
x.

x < 9.05

x

14

1. nth term is n2

202 = 400

2. 4  2401.

7

3. 

4.20

4. C d
C = 110 + 12d

C = 110 + 12 × 14 = £278

y

Solution

y

x

Week 4
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